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Part A 

Answer all questions in this part. 

question, choose the word or 
question. Some questions may 
Science. Record your answers on your 

science to answer all questions. For each statement or 
that, best completes the staternent or answers the 
use of the 2011 Edition Tahles Physical Setting/Earth 

answer 

l \Vhy is the surface of Mercury 
meteor impact while Earth's 
relatively few craters? 

Mercury is larger than 
·with more meteors. 
Mercury is an older planet, so it 
history of meteor impacts. 
Earth's water 

meteors. 

has 

hit 

a longer 

attracts 

Earth's hydrosphere and atmosphere 
destroyed or buried most meteor impact 
sites. 

( 1) measurements of rates 
carbon-14 
measurements of cosmic background 
calculations of the from the 
each in the asteroid belt 
calculations of the luminosity 
of stars 

3 A blue of light a star that 
star 

will soon become a star 
will soon become a giant star 
is closer to Earth 
is moving away from Earth 

4 Evidence that Earth revolves around the Sun is 
provided by the 

apparent and the Sun during 
one dav 

~ 

apparent rising and of 
one day 
season~l changes in the apparent 
constellations 
hourly changes in the direction of 
the of a Foucault pendulum 
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.5 \Vhat causes many surf[we 
right in the Northern 

rotation of Earth on its axis 
unequal heating 
gravitational 
gravitational 

of the Moon 
of the Sun 

6 During which Northem 
Earth closest to the Sun? 

sp1ing 
summer 

a11tumn 
vvinter 

7 An observer on Ea1th measures 
bet\:veen Venus and the Sun. 

Venus 

'' 

* (Not drawn to scale) 

season is 

of sight 

Which statement best and explains the 
apparent motion of Venus over next 
hours? 

( l) Venus will set l hour the Sun because 
Earth rotates at per hour. 
Venus will set 2 hours the Sun because 
Venus orbits Eatth faster than Snn orbits 
Earth. 
Venus will set 3 hours the Sun because 
Earth rotates at per hour. 
Venus will set 4 hours the Sun because 
Venus orbits Earth slower than the Sun orbits 
Earth. 



8 The diagram below represents the horizon 
dates, as viewed from the same location in 

apparent paths, A, B, and C, on three different 

Sun 

A~ 
8~ 

East 

Sun rises 

c 

South West 

Sun sets 

\Vhich table correctly shows the dates on which the apparent paths of the Sun were observed? 

Path of Date Path of Date Sun Sun 
A ember 21 A 21 

B September 23 B September 23 

c March 21 c June 21 

( 1 ) ( 3 ) 

Path of 
Date Sun 

Path of 
Date Sun 

A December 21 A June 21 

B March 21 B March 21 

c June 21 c December 21 

( 2 ) ( 4 ) 
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9 that most of 
atmosphere was produced by 

cloud 
from a nearby 

that in;pacted 

10 An in 
atmosphere is often 

in cloud cover a 
a in solar radiation 
an increa<.Je in airborne 
an in duration 

11 'Which station model shows a 
the 

( 1 ) ( 3) 

( 2 ) ( 4 ) 

12 The direction of movement of 
ocean currents is most affected by Earth's 

tilted axis 
prevailing 

rate 
tidal action 

13 The winds shift from southwest to 
heavy rains and hail begin to fi1ll in 
York. These are most likelv caused bv 
the arrival ' ' 

(1) an air mass a cold 
acT air mass a warm front 
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air. 

1) east coast of N mth 

coast 

17 The 

( 1) 10:02:00 
10:09:20 

tirne of the 

has 

climates 

temperature more 

and the west 

the east coast of 

the east coast 

10:20:40 
10:32:00 

the west 



18 The diagram below 
surfaces dming the same 

Intensity of Shaking of Earth Surfaces 

Hard igneous rock Sedimentary 
rock 

Coarse 
sediments 

The greatest earthquake 

hard igneous rock 
(2) sedimentary 

they arc built on 

Base your answers to 19 and 20 on the block 

(Not drawn to scale) 

19 Which tectonic plate boundary is best by this 

(1) Nazca Plate and Pacific 
(2) Scotia Plate and South Plate boundary 

Juan de Fuca Plate and North Amelican Plate l;oundary 
Antarctic Plate and Indian-Australian 

20 Compared to the oceanic 

more dense and more 
more dense and more 
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the continental ernst is 

oecurs on different Earth 

Silt and 
mud 

a tectonic plate boundary. 



21 Most of the sediment that is compacted and later 
forms shale bedrock is 

clay 
(2) silt 

sand 
(4) pebbles 

22 In which two Earth regions is oxygen the second 
most abundant element by volume? 

( 1) crust and hydrosphere 
hydrosphere and troposphere 
troposphere and core 
core and cmst 

23 "Which two properties are most useful in 
distinguishing between galena and halite? 

cleavage and color 
luster and color 
hardness and streak 
streak and cleavage 

24 The graph below shows the decay of a radioactive 
material over time. 

~100 
0 -0) 
c: 
"2 

75 ·a e 
CD a: 
a; 50 ·;: 

End of first half-life 

s as 
:iE 
~ 25 
:= u as 
0 :a 0 as a: 0 5 10 15 20 

Time (x 1 Q3 years) 

How long does it take for this radioactive material 
to decay through 2 half-lives? 

( 1 x 103 years 10 x 103 years 
(2) .5 x 103 years (4) 40 x 103 years 

2.5 A 6.5 . .5-million-year-old impact crater in Mexico 
provides evidence for the cause of the 

( 1) breakup of Pangaea 
(2) evolution of the earliest corals 

Alleghenian orogeny 
extinction of ammonoids 
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26 When did the earliest humans appear on Earth? 

before the earliest dinosaurs 
before the earliest flowering plants 
during the Pleistocene Epoch 
during the Late Triassic Epoch 

27 A landslide is an example of 

river deposition 
glacial scouring 

mass movement 
chemical weathering 

28 Each of the rock particles below has the same 
density and volume. Which particle will most 
likely settle at the fastest rate in moving water? 

( 1 ) ( 2) ( 3 ) ( 4) 

29 "Which rock weathers most rapidly when exposed 
to acid rain? 

quartzite 
(2) granite 

basalt 
limestone 

30 What is the approximate 1mmmum stream 
velocity needed to keep a particle in motion that 
has a diameter of 10 centimeters? 

110 cm/s 32.5 cm/s 
(2) 190 cm/s 42.5 cm/s 

31 Which change is most likely to occur in a landscape 
if its climate changes from humid to arid? 

Wind \vill become a more important agent of 
erosion. 
Surface features \vill become more rounded. 
Chemical weathering \vill increase. 

(4) Vegetation vvill increase. 

32 The surfi:tee bedrock in the Hudson Highlands 
consists mostly of 

(1) diabase, dolostone, and granite 
(2) slate, siltstone, and basalt 

gneiss, quartzite, and marble 
limestone, shale, sandstone, and conglomerate 



33 The Catskills landscape region is classified as a plateau because it has 

low elevations and mostly faulted or folded bedrock 
low elevations and mostly horizontal bedrock 
high elevations and mostly faulted or folded bedrock 
high elevations and mostly horizontal bedrock 

Base your answers to questions 34 and 35 on the block diagram below, which shows bedrock units 
A through F and boundary XX'. 

X 

Key 

UllUl Contact 
metamorphism 

34 The rock that formed in the contact metamorphic zone between rock unit E and rock unit D is 

hornfels (3) schist 
marble (4) anthracite coal 

35 Which best describes the geologic history, from oldest to youngest, that occurred at this site? 

(1) deposition ofF, D, C, B---+ intmsion of E---+ uplift and erosion-+ deposition of A 
(2) intmsion of E-+ deposition of D, C, B-+ uplift and erosion-+ deposition of A 

deposition of D, C, B, A-+ uplift and erosion---+ intmsion of E 
deposition ofF, D, C, B, A-+ intn1sion of E-+ uplift and erosion 
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Answer all questions in this part. 

Directions (36-.50): 
question, choose the 

Some questions 
Rec'Ord vour answers on 

/ 

on Base your answers to 
such as our Sun as it from a protostar to a white 

36 Dming which 
luminosity? 

protostar 
main sequence 

37 Which process produces the "''''"'r""' 

radioactive 
nuclear fusion 

P.SJE. Sci.-Jan. 'l:l 

the star 

star 

below, which shows 
star. 

For each statement or 
statement or answers the 

Physical Setting/Earth 

change in the size of a star 

temperature and the greatest 

it 

condtiction 
convection 

a main sequence star? 



Base answers to 

vVhich tectonic 

hot 

40 The map below 

At 

A 
B 
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is 

a 

on 

Crustal , ........ 0 

... , .. ,1[7 at Mid-Ocean Riodges 

of tectonic plate boundary. These 
split by rift valleys. The rift 

widening the ocean basins, 
to move In some cases, 

hot spots. This explains why mid-ocean 
are found together at locations. 

to a 

Points A through D are locations on the ocean floor. 

of the ocean floor hedrock most highest? 

G 
D 

[OVER] 



Base your answers to questions 41 through 44 on the map below, which shows the locations of a 
high-pressure center (H) and a low-pressure centf'r (L) owr a pmtion of North The isolines indicate 
surface air pressures. 

41 The data used to construct 

inches 
(2) millibars 

isolines on this map were recorded in which units? 

42 Which map shows the most likely location of clouds associated \Vith these pressure 

( 1 ) ( 3 ) 

( 2) ( 4} 
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43 The arrows on which map show the pattern winds around these two 

( 1 ) ( 3 ) 

( 2) ( 4) 

The arrows on which show the most likely path in which two centers will move over the 
next davs? J • 

( 1 ) ( 3) 

( 2 ) { 4 ) 
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Base your answers to questions 45 through on the below, which shows a model of the water 
cycle. Letters A through F some '"""<:.~,.~, of the water cycle. X indicates the top of the 
underground zone that is water. 

45 Which is 

capillarity 
(2) infiltration 

46 What 

the water table 
a floodplain 

The Water Cycle 

(Not drawn to scale) 

by letter F? 

47 If the surface soil is saturated and precipitation 

a in the amount of groundwater 
a decrease in of the 

48 The processes of transpiration and evaporation are 

A B 
(2) Band E 
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condensation 
vaporization 

sea 
impermeable rock 

an increase in the rate of capillarity 
an increase in the amount of runoff 

by letters 

C and A 
DandE 



Base your answers to questions 49 and 50 on the diagram below, which represents a rock composed of 
cemented pebbles and sand. 

49 This rock should be classified as 

an intrusive igneous rock 
an extrusive igneous rock 

( 3) a bioclastic sedimentary rock 
a clastic sedimentary rock 

50 \Vhich change would most likely occur if this rock became buried deep within Earth's crust and was 
subjected to intense heat and pressure, but did not melt? 

The density of the pebbles and sand would decrease. 
(2) The rock would become a plutonic rock composed mostly of quartz. 
(3) The rock would become more felsic with a higher concentration of magnesium. 
(4) The pebbles would become distorted and the sand would be recrystallized. 
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Part B-2 

Answer aU questions in this part. 

Directions (51-65): Use your knowledge of Earth '''"'"'"'"·"'"'to answer all questions. Record your answers in 
the spaces provided in your answer booklet. Some the use of the 2011 Edition Reference 
Tables for Physical Setting/Earth ;')CZit:nce. 

Base your answers to questions 51 through on the diagram in your answer booklet, which shows Earth as 
viewed from space on December 21. latitudes are labeled. 

51 On the diagram in your answer booklet, place an X at a location on Emth's surface where the Sun was directly 
overhead at some tirne on December 21. 

52 State one factor, other than the tilt of Earth's axis, that causes seasons to change on Earth. 

53 At which latitude is Polaris observed at an altitude of 66.5°? 
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Base your answers to questions 54 through 56 on the diagram of Bowen's Reaction below, which 
shows sequence in which minerals crystallize as magma cools and different types of igneous 
from the same magma. The arrow for each mineral represents the relative temperature at which that 
mineral crystallizes. 

Temperature 
Conditions 

High 
temperature 

(first to 
crystallize) 

t1:S 
E 
0> 
CCI 
E 
0) 

.5 
0 
0 

(.) 

Low 
temperature 

(last to 
crystallize) 

Bowen's Reaction Series 

Minerals that Crystallize from Magma as the Magma Cools 

Mus~ovite \\ 
m1ca ~ 

n 
Quartz v Potassium 

feldspar 

Igneous 
Rock Type 

Ultramafic 
(peridotite) 

Basaltic 
{basalt/gabbro) 

Andesitic 
(andesite/diorite) 

Granitic 
(rhyolite/granite) 

Acmrding to Bowen's Reaction Series, how is the chemical composition of plagioclase feldspar found in 
basaltic rock different from the chemical composition of plagioclase feldspar found in granitic I 

55 Describe the temperature conditions shown in Bowen's Reaction Series that explain why olivine and quartz 
are not usual1y found in the same igneous rock type. 

56 Identify one similarity and one difference ... ""''""'""~ the igneous rock<> andesite and 
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Base your answers to questions through (i 1 on and tables below. shows a rock 
sample containing fossils from a location in Ne\v N 1.5' \V. L 2, and 4 are labeled. 
Table A lists the names and rock of 
this area. The presence of fossil or 4 in a 

the Middle and Late Devonian in 
unit is indicated bv an X in the fossils column in the table. 

Table B identifies typical formed within 
/ 

environments. 

Rock Sample 

Table A: New York State Rock Units in Area Where the Rock Sample was Found 

Geologic 
Name of Fossils 

Age: Type of Rock Found in Unit 
Devonian 

Rock Unit 1 2 3 4 

Late Conewango shales and sandstones X X X 

Late Conneaut shales and sandstones X X X 

Late Canadaway shales and sandstones X 

Late West Falls shales and sandstones X X X 

Late Sonyea shale X X 

Late/Middle Genesee shale X X 

Middle Tully limestone X X 

Middle Hamilton limestone X X 

Middle Onondaga limestone (includes volcanic ash bed) X I 

Table B: Sedimentary Rock Types Formed in Different Marine Environments 

Sedimentary Rocks Marine Environment 

limestones clear, shallow water 

gray shales muddy, oxygen rich 

black shales muddy, oxygen poor 

siltstones and sandstones silty to sandy bottom 

evaporites very salty, shallow seas 

coarse-grained sandstones 
tidal shores and deltas 

and conglomerates 
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.57 On the map in your answer booklet, place an X at 

58 Based on the 
table A? 

59 Identify the 

present, the 

York State 

smnple 

fossil 

this rock 

in came which rock unit listed in 

on the sample. 1] 

60 Identify the landmass collided with the eastern coast North America to create the Acadian 
mountain range the basin the deposition of the Devonian units in A. [1] 

61 According to the in which marine environment was the rock unit deposited? 

P.SJE. Sei.-Jan. '13 



Base your answers to questions 62 through 65 on the maps below. The southwest comer of the New York State 
below is enlarged in maps I, II, <md III. Arrows on maps I, II, and III show the location and direction flow 

for part of the Allegheny River at different times during the Cenozoic Era. The present boundaries of New York 
and Lake Erie are shown on each map. Point A on map III a location in New York State. 

Map I 
During the Neogene Period 

Course of the Allegheny River 

Map II 
22,000 Years Ago 

Map Ill 
Present Day 

,.----------------
Key 

I _,... Glacial moraine 
L_ ____________ ___ 

62 Map II shows the course of the Allegheny River during a 
name this geologic time period. [ 1] 

part of a time period. State the 

63 Explain why the direction of How of the Allegheny 
map II. [1] 

changed between the times shown on map I and 

64 Identify the present-day that prevents the Allegheny River from returning to its (Neogene) 
direction of flow to the northwest. [1] 

65 The diagram in your answer booklet shows a partial cross section of a valley near location A on map III. On 
this diagram, draw a line beginning at X and at Y to show the shape of this valley after it was 
eroded by glacial ice that Howed down the 
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Parte 

Answer all questions in this part. 

Directions (66-85): Use your knowledge of Earth ,,...,,,'-''"~v to answer all questions. Hecord your answers in 
the spaces provided in your answer booklet. may require the use of the 20ll Edition Rqerence 
Tables for Physical Setting/Earth 

Base your answers to questions 66 through 68 on the data table below, which shows the 
carbon dioxide (C02) concentrations in Earth's atmosphere for specific years from 19:30 to 2010. Carbon ...... ~'"'"'''-' 
is a greenhouse in Earth's atmosphere that contributes to global warming. The average cm·bon dioxide 
concentrations were measured in parts per million (ppm). 

Average Carbon Dioxide Concentrations 
in Earth's Atmosphere 

Year 
Average C02 

Concentration (ppm) 

1930 306 

1940 308 

1950 310 

1960 316 

1970 326 

1980 338 

1990 = 354 

2000 370 

2010 390 

66 On the grid in your answer booklet, construct a line graph by plotting the average carbon dioxide 
concentrations in atmosphere for each shovm on the data table. Connect the plots with a line. [ L J 

67 Calculate the rate of change from 2000 to 2010 of the average carbon dioxide concentrations, in parts 
million per year. 

68 IdentifY one greenhouse other than carbon dioxide, that contlibutes to global warming. 
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Base your answers to 69 on 

A Lake-Effect Snowstorm 

Lake 
Ontario 

N 

t 

69 On the grid in anstver construct a profile the snowfall amounts along AB by plotting 
the isoline amouuts that cross AB. amounts for points A and B have plotted. Complete the 
profile by all plots with a [I] 

70 how miles 

71 Determine the number of 
snowstorm. 

section 

of snow was 

72 Identify the most probable direction from \vhich the 
shown on the map. [1] 

were closed due to the snowstorm? 

in Falls, New York, from this 

was blowing to produce the pattern of snowfall 

Identify tux> hazards to human or that can result a snowstorm of this size. [1] 

P.SJE. Sci.-Jan. "13 



answers to questions 7 4 
of a mountain Arrmvs 

Y£UU'D•<'f.>>C1>1- locations at sea level on 

E' -c 
0 = 2000 

~ 
iii 1000 

Sea level 

below, which shmvs the ·windward and 
movement of air over a mountain. Points A and B 

7 4 Identify one weather instrument could he used to determine the dewpoint of the air at point A 

75 What is the relative humidity at base of the cloud on the windward of the mountain? 

76 Explain why air cools as it rises np this mountain. 

Compared to temperature and of the air at point A, describe how the temperature 
and relative humidity of the air are different as the air arrives at point B. 
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your answers to questions 78 through on 
positions of Moon in its orbit around Earth. 

78 On the diagram in your answer booklet, circle the position of the Moon where a solar eclipse is possible. 

On in your answer booklet, shade the portion of the Moon that is in darkness to show the phase 
of Moon at position 3, as viewed from New York State. 

80 terms rotation and revolution, explain why the same side of the Moon always Earth. 

a greater effect on Earth's ocean tides than the Sun's gravity. 

The table below shows times of ocean tides on March 4 for a city on the Atlantic coast of the United States. 

Ocean Tides on March 4 

Tide Time 

high 12:00 a.m. 

low 6:13a.m. 

high 12:26 p.m. 

Determine the time when the next low tide occurred. Include a.m. or p.m. in your answer, if neea,ea. 
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Base your answers to questions 83 through 85 on the P""''"''~~~~ and data table below, which describe the 
exploration and characteristics of one of Saturn's moons, 

Huygens Probe Lands on Titan 

The Huygens probe was carried to Saturn by the Cassini spacecraft and parachuted 
to the surface of Saturn's giant moon, The Huygens probe's landing site was 
littered with smooth, rounded, objects. Photographs of Titan's surface 
show drainage channels leading to an apparent shoreline. The question what are 
they draining? One of the photographs seems to show ground fog consisting not of 
water, but perhaps of eth~me or methane. 

Titan Data 

Distance from Saturn 1.22 million km 

Diameter 5150 km 

Average Density 1.881 g/cm3 

Atmospheric Pressure at 
1500mb 

Surface 

Mass (Earth = 1) 0.022 

Air Temperature at 
-291 

Landing Site 

83 \¥hat natural process occurring on Earth produces smooth, rounded rocks similar to those found at the 
probe's landing on Titan? (1] 

84 Approximately how many times farther is Titan Saturn than Earth's Moon is from Earth? [l] 

85 Identify the planet with a density closest to the density of Titan. 
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Record your answers for Part B-2 and Part C in this booklet. 

Part B-2 

51 

December21 

North Pole (90" N) 

Arctic Circle (66.5" N) 

Sun's rays 
Tropic of Cancer (23.5" N) 

Tropic of Capricorn (23.5" S) 

South Pole Antarctic Circle (66.5" S) 

(Not drawn to 

52 ------·----

53 ---------



54 _____________________________________________________________ _ 

55 __________________________________________________________ _ 

56 Similarity: _______ _ 

Difference: __________________________________ _ 

57 
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58 Rock unit:-----·-----

59 ------------

60 ________________________ _ 

61 --------------------------

62 ________________ _ Period 

63 ________________ __ 

64 --------------------------

65 
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66 

Average Carbon Dioxide Concentration in Earth's Atmosphere 

67 

390 

370 

E 
&: 360 -c:: 
0 

~ c 350+-+-+-1-
G) 
u c:: 
0 
(.) 

N 340 
0 
(.) 
G) 
0'1 

e 33o G) 

~ 

310 

300 
1930 1940 1950 1960 

68 ---------------
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69 

30 

~ 24 
c 

C/) 

0 
18 

til 12 
CD ,s::. 

6 (.) 

s 
0 

A B 

70 mi 

71 in 

72 From the: 

73 Hazard 1: 

Hazard 2: 

74 

75 % 

76 

77 Temperature at B: 

Relative humidity at B: ------------------------------
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78 

Position 
1 

-< 

~ 

Sun's 
-< 

rays 

Earth -c:-

3 ..--
Moon's 

orbit -<(------

(Not drawn to scale) 

79 
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16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1 0
85 100 99 99 99 98 98 97 96 96 95 94 93 91 90 88 87 85
84 99 99 98 98 98 97 96 96 95 94 93 92 91 89 88 86 84
83 99 99 98 98 98 97 96 96 95 94 93 92 91 89 88 86 84
82 98 98 98 97 97 96 95 95 94 93 92 91 90 88 87 85 83
81 98 98 98 97 97 96 95 95 94 93 92 91 90 88 87 85 83
80 97 97 97 96 96 95 95 94 93 92 91 90 89 88 86 84 82
79 97 97 97 96 96 95 95 94 93 92 91 90 89 88 86 84 82
78 97 96 96 95 95 94 94 93 92 91 90 89 88 87 85 83 82
77 97 96 96 95 95 94 94 93 92 91 90 89 88 87 85 83 82
76 96 95 95 95 94 94 93 92 91 91 89 88 87 86 84 83 81
75 95 95 94 94 93 93 92 91 91 90 89 88 86 85 83 82 80
74 95 95 94 94 93 93 92 91 91 90 89 88 86 85 83 82 80
73 94 94 93 93 92 92 91 90 90 89 88 87 86 84 83 81 79
72 93 93 92 92 92 91 90 90 89 88 87 86 85 83 82 80 78
71 92 92 92 91 91 90 90 89 88 87 86 85 84 82 81 79 77
70 92 92 92 91 91 90 90 89 88 87 86 85 84 82 81 79 77
69 92 91 91 90 90 89 89 88 87 86 85 84 83 82 80 78 77
68 91 90 90 89 89 88 88 87 86 85 84 83 82 81 79 77 76
67 90 90 89 89 88 88 87 86 85 85 84 82 81 80 78 77 75
66 89 89 88 88 87 87 86 85 85 84 83 82 80 79 77 76 74
65 89 89 88 88 87 87 86 85 85 84 83 82 80 79 77 76 74
64 88 88 87 87 86 86 85 85 84 83 82 81 80 78 77 75 73
63 87 87 87 86 86 85 84 84 83 82 81 80 79 77 76 74 72
62 86 86 86 85 85 84 84 83 82 81 80 79 78 77 75 73 71
61 86 85 85 84 84 83 83 82 81 80 79 78 77 76 74 72 71
60 85 84 84 84 83 82 82 81 80 79 78 77 76 75 73 72 70
59 84 84 83 83 82 82 81 80 80 79 78 77 75 74 72 71 69
58 83 83 82 82 81 81 80 79 79 78 77 76 74 73 71 70 68
57 82 82 81 81 81 80 79 79 78 77 76 75 74 72 71 69 67
56 81 81 81 80 80 79 78 78 77 76 75 74 73 71 70 68 66
55 80 80 80 79 79 78 78 77 76 75 74 73 72 71 69 67 65
54 80 79 79 78 78 77 77 76 75 74 73 72 71 70 68 66 65
53 79 78 78 78 77 77 76 75 74 74 72 71 70 69 67 66 64
52 78 78 77 77 76 76 75 74 74 73 72 71 69 68 66 65 63
51 77 77 76 76 75 75 74 73 73 72 71 70 69 67 66 64 62
50 76 76 75 75 75 74 73 73 72 71 70 69 68 66 65 63 61
49 75 75 75 74 74 73 73 72 71 70 69 68 67 65 64 62 60
48 75 74 74 73 73 72 72 71 70 69 68 67 66 65 63 61 60
47 74 73 73 72 72 71 71 70 69 68 67 66 65 64 62 60 59
46 73 73 72 72 71 71 70 69 68 68 67 65 64 63 61 60 58
45 71 71 70 70 69 69 68 68 67 66 65 64 63 61 60 58 56

To determine the student’s final score, locate the student’s Total Performance Test Score across the top of the chart and the Total Written Test Score down the side of the
chart. The point where the two scores intersect is the student’s final examination score. For example, a student receiving a Total Performance Test Score of 10 and Total
Written Test Score of 71 would receive a final examination score of 90. 
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16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1 0
44 70 70 70 69 69 68 67 67 66 65 64 63 62 60 59 57 55
43 69 69 69 68 68 67 67 66 65 64 63 62 61 60 58 56 54
42 69 68 68 67 67 66 66 65 64 63 62 61 60 59 57 55 54
41 68 67 67 67 66 65 65 64 63 62 61 60 59 58 56 55 53
40 66 66 65 65 64 64 63 62 62 61 60 59 57 56 54 53 51
39 65 65 64 64 64 63 62 62 61 60 59 58 57 55 54 52 50
38 64 64 64 63 63 62 61 61 60 59 58 57 56 54 53 51 49
37 63 63 63 62 62 61 61 60 59 58 57 56 55 54 52 50 48
36 62 61 61 61 60 60 59 58 57 57 55 54 53 52 50 49 47
35 61 61 60 60 59 59 58 57 57 56 55 54 52 51 49 48 46
34 60 60 59 59 58 58 57 56 56 55 54 53 52 50 49 47 45
33 58 58 58 57 57 56 56 55 54 53 52 51 50 48 47 45 43
32 58 57 57 56 56 55 55 54 53 52 51 50 49 48 46 44 43
31 57 56 56 55 55 54 54 53 52 51 50 49 48 47 45 43 42
30 55 55 54 54 53 53 52 51 51 50 49 48 46 45 43 42 40
29 54 54 53 53 52 52 51 51 50 49 48 47 46 44 43 41 39
28 52 52 52 51 51 50 50 49 48 47 46 45 44 43 41 39 37
27 52 51 51 50 50 49 49 48 47 46 45 44 43 42 40 38 37
26 50 50 49 49 48 48 47 46 46 45 44 43 41 40 38 37 35
25 49 49 48 48 47 47 46 45 45 44 43 42 40 39 37 36 34
24 47 47 47 46 46 45 44 44 43 42 41 40 39 37 36 34 32
23 46 46 46 45 45 44 44 43 42 41 40 39 38 37 35 33 31
22 45 44 44 44 43 43 42 41 40 40 38 37 36 35 33 32 30
21 44 44 43 43 42 42 41 40 40 39 38 37 35 34 32 31 29
20 42 42 41 41 41 40 39 39 38 37 36 35 34 32 31 29 27
19 41 41 41 40 40 39 39 38 37 36 35 34 33 31 30 28 26
18 40 39 39 38 38 37 37 36 35 34 33 32 31 30 28 26 25
17 39 39 38 38 37 37 36 35 34 34 33 31 30 29 27 26 24
16 37 37 36 36 35 35 34 34 33 32 31 30 29 27 26 24 22
15 35 35 35 34 34 33 33 32 31 30 29 28 27 26 24 22 20
14 35 34 34 33 33 32 32 31 30 29 28 27 26 25 23 21 20
13 33 33 32 32 31 31 30 29 29 28 27 26 24 23 21 20 18
12 32 32 31 31 30 30 29 28 28 27 26 25 23 22 20 19 17
11 30 30 30 29 29 28 27 27 26 25 24 23 22 20 19 17 15
10 29 28 28 27 27 26 26 25 24 23 22 21 20 19 17 15 14
9 28 27 27 27 26 26 25 24 23 23 21 20 19 18 16 15 13
8 26 26 25 25 24 24 23 22 22 21 20 19 18 16 15 13 11
7 24 24 24 23 23 22 22 21 20 19 18 17 16 14 13 11 9
6 24 23 23 22 22 21 21 20 19 18 17 16 15 14 12 10 9
5 22 22 21 21 20 20 19 18 17 17 16 14 13 12 10 9 7
4 21 21 20 20 19 19 18 17 17 16 15 14 12 11 9 8 6
3 19 19 19 18 18 17 16 16 15 14 13 12 11 9 8 6 4
2 18 17 17 16 16 15 15 14 13 12 11 10 9 8 6 4 3
1 16 16 15 15 14 14 13 12 12 11 10 9 7 6 4 3 1
0 15 15 14 14 13 13 12 11 11 10 9 8 6 5 3 2 0

Final Examination Scores
Regents Examination in Physical Setting/Earth Science – January 2013 – continued

Total Performance Test Score
To

ta
l W

rit
te

n 
Te

st
 S

co
re

P.S./Earth Science Conversion Chart - January ’13 2 of 2


